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QUESTION 1

Which three techniques are used in ONTAP to improve storage efficiencies? (Choose three.) 

A. compression 

B. encryption 

C. compaction 

D. ADP 

E. thin provisioning 

Correct Answer: ACE Section: (none) 

Reference: https://cloud.netapp.com/blog/storage-efficiency-success-stories-with-cloud-volumes-ontap 

 

QUESTION 2

In ONTAP 9.6, activity on the command line is found in which log? 

A. audit.log 

B. messages.log 

C. command-history.log 

D. mgwd.log 

Correct Answer: A Section: (none) 

Reference: https://kb.netapp.com/Advice_and_Troubleshooting/Data_Storage_Software/ONTAP_OS/ 

Overview_of_ONTAP_Logs 

 

QUESTION 3
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Which type of MetroCluster is shown in the exhibit? 

A. 2-node stretch MetroCluster 

B. 4-node MetroCluster IP 

C. 4-node Fabric-Attached MetroCluster 

D. 4-node stretch MetroCluster 

Correct Answer: C Section: (none)

 

QUESTION 4

You want to use the supported method to upgrade the ONTAP version of a Cloud Volumes ONTAP instance from
ONTAP 9.5 to ONTAP 9.6. 

In this scenario, which NetApp tool accomplishes this task? 

A. Cloud Manager 

B. Cloud Insights 

C. Active IQ Unified Manager 

D. ONTAP System Manager 

Correct Answer: D Section: (none) 

Reference: https://docs.netapp.com/us-en/occm/task_updating_ontap_cloud.html#suspending-snapmirrortransfers 

 

QUESTION 5

You are using FCP and iSCSI protocols from your clients with ONTAP as the target. You want to ensure that storage
failover (SFO) works correctly for your clients. 

In this scenario, which two features on the initiator and the target will accomplish this task? (Choose two.) 

A. LACP 

B. MPIO 

C. ALUA 

D. SCSI 

Correct Answer: BC Section: (none) 

Reference: https://www.netapp.com/media/10680-tr4080.pdf 

 

QUESTION 6
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What are two reasons to use HTTPS as the transport method for AutoSupport delivery for Active IQ? (Choose two.) 

A. Only HTTPS transfers are compressed. 

B. AutoSupport OnDemand (AOD) is supported. 

C. HTTPS is encrypted. 

D. HTTPS does not use a standard port. 

Correct Answer: BC Section: (none) 

Reference: https://www.netapp.com/media/10438-tr-4444.pdf 

 

QUESTION 7

What is the consequence of a loss of connectivity between a Cloud Volumes ONTAP (CVO) instance and Cloud
Manager for four or more days? 

A. The CVO instance sends an AutoSupport message. 

B. The CVO instance must be added back manually to Cloud Manager. 

C. Cloud Manager removes the CVO instance from its inventory. 

D. The CVO instance is stopped. 

Correct Answer: C Section: (none)

 

QUESTION 8

You are asked to replicate 15 of 20 volumes and the network configuration of your storage virtual machine to your other
data center. 

In this scenario, which NetApp technology should you use? 

A. SnapMirror Synchronous 

B. SVM DR 

C. MetroCluster 

D. SVM peering 

Correct Answer: A Section: (none)

Reference: https://www.netapp.com/pdf.html?item=/media/19369-tr-4832.pdf 

 

QUESTION 9

A customer ordered a FAS2720 cluster with 8 TB SATA drives. The customer wants to use the Advanced Drive
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Partitioning (ADP) feature to avoid consuming the high capacity drives for the root aggregate. Before you use the cluster
setup, you issue the aggr status command and notice that ADP is not being used. 

In this scenario, what would you use to implement ADP? 

A. loader prompt 

B. special boot menu 

C. nodeshell 

D. SP prompt 

Correct Answer: A Section: (none)

 

QUESTION 10

You want to update your storage system and are concerned about the compatibility of the SAN components and the
host environment. 

In this scenario, which two actions should you take to verify compatibility? (Choose two.) 

A. Use the Interoperability Matrix Tool. 

B. Use Active IQ Interop Advisor. 

C. Upload AutoSupports to Active IQ. 

D. Use the Active IQ Config Advisor. 

Correct Answer: AD Section: (none)
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